) - $X TR EE &K



WO

BB 0 YT H BN REEY (ES)




T7Hk— R I A I S, AT

8.5

3.5

+ 35

10.5
5k O E A TR

H10.3.5 T4 i B 3 AN B A R 43, 5 3AHTRSS , FEAH M
3,C5M=3c45ff1
30x3=9 i 955+1.556=10.5 5£ ==>3.5%3=10.5(7r)
5 f1x3=15111=1.5 )i -



{3500 ——> 35 M SEIE S B T ALALIL Ah H AE R
L x 3 x 3 :

10576 105 fi;— B 105 A LIl L5 H 43 /A

- o o o e e 0 o e 0 o I - o A

3.5%3=10.5(JL)
s 523 4 W10.55%.



e BEo ruEeR T (B

® 072x5=



MePs
0.72x5=3.6
0.72
x 5
3.60




a > 27 2 1l £
1-:I‘E§O
(1)4.5+4.5+4.5+4 5=( IxX( ),
(2)31551.85%6 1], ks 1.85 4 K ( M, H R B0 B H R ( ), T HEE1.85 iy 9

K1k TP K EMERRAZ, DIER A/ E B R ( ) e ) B/ NG A e Y
0 L2 )s



2. AZKITE,
4.8x6= 5.06x5= 6.78x60= 0.36x12=



ol BN G —PATA,
MRS — BB 5 L F O

i35 32 320 32 3.2 32 32 0.32
IS 15 15 150 15 1.5 0.15 15
M 480
IRERRE 7

4800 4800 48 48 4.8 4.8




WY W

& BamLAE—BET®

ArxAREhn R . ~EB ZSRAFANABATETORERX R ALMEH R LK, —
BT R, AMERI) A 20 Reg, TAMESE RFERIBRNE ORI RPZHHXFE .
B E—RWE RO, BHTFE—IXH 025 /M BT, B XRPE LA B DNET?

IS#3E 7
0.25x(6-1)=1.25(/Nif ) % HE 5 OB L T 1.25 /)N




$ RERLAE—TNE

AT B AR ARG LA R AR, LB PR P B R e oy — AP AR AT k. T AR
AMNBEFHTHEHATEHCTHRETHXANT, REaHOLET,
B2 —%EH, F—BAETEMBH—F, F_AETRTH—3F, XHEEEF T 12.5kg. XEE
MEREZDTF5R?

IS#ME 7
12.5%x2x2=50(kg) % : X454y 5Ok 3 50 kg.



2 27 21l &

3. HLBE N AR F 2 07 5 3.6 8D, WX F (8 52 , I 1 R 3] 8 17 28 22 IR T[] 7



44—, 55— U A R —20 55 — W T T i— 20, A P 4 i 381 20.5kg , x4 sth BUk T
Z/LT



WVUW

o Bl & o

1. H5EEFR,
0.3%x4= 0.05%8=
1.2%3= 2 5x4=

2.15%2= 3.05%6-=



2.1R#5205x12=2460, H#= S H M I FINHIR,
2.05%12= 205x1.2=
205%0.012= 0.205%120=



2T E,
1.35%3= 0.25%x18=




4.92x60= 3.05%x84=



v BEAA o

4.20164E10 A 17 H 3 FH il 2h & S f++— 5%k
N KRR, BRI AT 2.8 7 Tk, — K RE KAT
Z /T K7




5./IN T 5% 1 4 24 9 ) i 2l
B . — ] B 2

TEHEAS W H i 22057 L :
Bhz=1.3.8%4=15.2(m?)
e —— fip22 2.3.2x5=16(m?)
i B4 16 m?> 15.2 m?
4m| ENED / o B 2 TR E A (b
fpzE2 3.2m oo =
¥ T
3
T
A




6.8 —4RHR, EBIMEREF & —, UH|
TG KA T L T 0.4 kg, %48
Rk EZ /T 5e7




w s

X RIREN R BRIRZ

REH A FEER? T

R4 BEREES,

2. =

R T,




